6/13/23, 6:44 PM 11_Live_Comm_B1_E_1-100.html
qaifIpRare o’ Imare (YERare) it $81 I €, 599 safaaTd Waddl

:ﬁ&@ﬂ@éﬁ(ﬁ@iﬂ)&ﬁﬂﬁﬁ% e gt & Feifea 3 o=
YHRATE BT UP UPR 6l 87

Ud
Ua

1. yrenfaa
2. &gt
3. SOl
4. =igardt

Al

A2
A3

A4

4
Objective Question

52 908052 The Directorate General of Foreign Trade (DGFT) facilitates and promotes forsign
trade in India and also implements the foreign trade policy of India. Which of the
following union ministry governs the DGFT?

1. Ministry of Commerce and Industry
2. Ministry of Science and Technology
. Ministry of Finance

. Ministry of External Affairs
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file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 38/66



6/13/23, 6:44 PM

11_Live_Comm_B1_E_1-100.html

In which of the following balance of payment accounts changes in holdings of
gold and foreign currencies by official monetary institutions are accounted for.

. Current Account

. Capital Account

. Official Reserves Account
. Foreign Exchange Account
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Objective Question
54 908054 Regional

Economic Integration is an attempt to achieve economic gains from the
free flow of trade and investment between countries. One such association 18
NAFTA. NAFTA comprises of the following countries:

1. USA. Canada. Mexico

2. USA, Canada, Brazil

3. USA. Mexico. Brazil

4. Canada, Mexico, Panama
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Objective Question

35908035 Who was of the opinion that labour was "the father of wealth” and it must be
included in any estimate of national wealth?

. William Far

. William Petty

. William C. Pyle

. Flamholtz
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Objective Question
56 908056

A and B are equal partners, when partnership is dissolved. their capital are Rs.
40.000 and Rs. 50,000 respectively. After all assets are sold and liabilities paid.
there is a cash balance of Rs. 80.000. What is the amount of profit or loss on
realization?

1. 10,000 (Profit)
2. 20.000 (Profit)
3. 30,000 (Profit)
4.10.000 (Loss)
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Objective Question
37 908057 Erom the following information you are required to compute Return on Total
Capital employed.
Net Profit Rs. 100,000
Provision for tax Rs. 100.000
Income from Investment Rs. 10.000
Fixed Assets Rs. 450.000
Current assets Rs. 1.50.,000
Interest on debenture Rs. 10,000

Reserves Rs. 100.000

30%
50%

60%

4. 40%
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Objective Question

58 1908058 which of the following is not the limitation of activity based costing?

. It involves various support activities in the process of making products.

. It does not provide relevant information for decision making.

. All costs cannot be identified easily with a particular activity

. Set up cost as well as costs of running and updating the ABC system are very
high.
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Objective Question

391908039 gybstitution effect is usually larger than the income effect in real world because

1. Consumes usually spends only a small proportion of income on any one
community

2. Consumer often consumes a small number of commodities

3. Consumer only spends small portion of income or consumption

4. Consumers income is relatively smaller in relation to the consumption.

arEdfae STd H TTHTI: RITHOE UHG 19 UHIG S S0 o9 sidl ©
T -

1.Bﬂma%amﬂma; 3T ST T ST A [ s U Jogasg | 99
Tl

. ST UT; quaaRgsit BT SIeqHmET BT STHIT HRa1 3

ST ST ST BT ST 8 SOHRT R E Hedl ©

SO BT 31T AR E9 I 39T A FH e R

[

NES V)

Al
A2
A3
fM

Objective Question
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The practice of setting a price target by the firm and then developing a product that
would allow the firm to maximize total profits at that price is called

1. Prestige pricing

2. Price lining

3. Price matching

4. Value pricing
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Objective Question
61 908061 s =y A o v R
Empirical studies indicate that long run average cost (LAC) curve is

1. L-shaped

2. U-shaped

3. S-shaped

4. V-shaped
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Objective Question
62 /908062
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Which of the following form of market organization is the most prevalent in the

manufacturing sector?

1. Perfect competition

2. Monopolistic competition
3. Oligopoly

4. Duopoly
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Objective Question

63 1908063 which of the following deseribe an intervention currency :

. The currency in which exporter choose to invoice their exports

. The currency in which cross-border transactions are paid for and closed
. The currency in terms of which a domestic currency is quoted

. The vehicle currency
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Objective Question
64 908064
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From the followings which is an uncommon feature of Private Equity and Venture
Capital.

1. Both invest in companies that are not able to or ready to gain capital from the
public
. Their investment is used for financial or operating restructuring of the
invester companies
3. They are set up an independent pools of capital contributed by institutions or
the high net worth individuals
4. Their activities are subject to few regulations
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Objective Question

65 908065 The total return for an equity stock during a vear was 12.5 per cent. The rate of
inflation during that year was 3.5 per cent. The real (inflation-adjusted) return was:

0.26 per cent
16.00 per cent
7.65 per cent
8.70 per cent
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Objective Question

66 1908066 T}, optimal capital budget of a firm is reflected by intersection point of

Security market line and capital market line

Weighted average cost of capital curve and marginal cost of capital curve
3. Investment opportunity curve and marginal cost of capital curve

4. Weighted average cost of capital curve and investment opportunity curve.
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Objective Question

67 908067/ 1 case of two variables. the estimated regression equation is § = 60+5x. The total
sum of squares is 15730 and sum of square due to error is 1530, The estimated
regression line based on this information 1s a

Poorest fit
Moderate fit
Good fit
Best fit

&l =R B T T vraesiard (M i) TH1Smu GHIHR0l 3 = 60+5x §| 71 &l
T 1T 15730 § SR I & BRI ST AR 1530 B 711 §| 59 TSR] &
MR TR S fTd JHHA T gl gl

B

&

1. Y3R¥E fthe (Halltip & Iuga)
2. TS ﬁ}(u;du%iud JUYga)

3. s fhe Iuga)

4. 9% e (Halitie IugHd)

Al
A2

A3

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 46/66



6/13/23, 6:44 PM 11_Live_Comm_B1_E_1-100.html

3
Aty

4
Objective Question

68 11908068 Experimental treatment in research design signifies which of the following ?

1. Selection of dependent variable

2. Manipulating independent variable
3. Selection of independent variable
4. Manipulating dependent variable
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Objective Question

69 P08069)) o point estimator is said to be consistent when

1. It has smaller standard error

2. Tts expected value is equal to the population parameter

. It tend to become closer to the population parameter as the sample size
become larger

4. Tt is based on all available information
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Objective Question

70 908070/ o population has a mean of 200 and a standard deviation of 50. Suppose a simple

random sample of size 100 is selected then the probability that the sample mean
will be = 5 of the population mean is

1.0.7523
2.0.6928
.0.9544
. 0.6826
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Objective Question

711908071 1 the process of perception. which one of the following is not an external factor

influencing selection of stimuli?

1. Experience

2. Familiarity

3. Repetition

4. Novelty
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Objective Question

721908072 Which one of the following values is not a part of OCTAPACE framework?

1. Openness
2. Extension
3. Proactivity
4. Autonomy
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Objective Question

73 908073/ \vhich one of the following is the hiring related turnover cost when an employee

quits an organization?

1. Advertising

2. Interviewing

3. Training

4. Recruiter fees
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Objective Question

74 1908074 Which one of the following normative ethical theories has "Net benefit from the
decision” as consideration in ethical decision making?

. Ethics of duty

. Theory of justice

. Stock holder ethics

. Utilitarianism
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Objective Question

75908075 Which committee had recommended a comprehensive framework of reform in the
insurance sector?

1. Ghosh Committee (1993)

2. Sodhani Committee (1994)
3. Malhotra Committee (1993)
4, Kalia Commuittee (1994)
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Objective Question

Mutual Funds in India are regulated by:

1. Unit Trust of India

2. Department for Promotion of Industries and Internal trade
3. The Securities and Exchange Board of India

4. Department of financial Services
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Objective Question

Which one of the following is a fully owned subsidiary of the R.B.I?

1. Indian Institute of Bank Management (IIBM)

2. National Institute of Bank Management (NIBM)

3. Indian Institute of Banking and Finance (IIBF)

4. Indian Financial Technology and Allied Services (IFTAS)
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Objective Question
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Which one group of the following countries are members of ASEAN?

. Laos, Cambodia, Brunei

. Malaysia. Thailand. Taiwan

. Myanmar. Singapore, Hong Kong
. Fiji. Laos. Cambodia
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Objective Question
79 908079 Whicl £ o ‘ . e . N
Vhich one of the advertising planning strategies is suitable for cars and

appliances?

1. Informative strategy
2. Affective strategy
3. Habitual strategy
4. Satisfaction strategy
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Objective Question
80 908080
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In which of the following segmentation criteria, the predictability of consumer
choice behaviour is the highest?

. Psychological

. Demographic

. Behavioural

. Geodemographic
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Objective Question

81 908081 The sales step in which a salesperson learns as much as possible about a

prospective customer before making a sales call is known as

1. Approach

2. Prospecting
3. Pre-approach
4. Presentation

fasha UTa & gd UTdl A6 & T ¥ § fasadal gR1 ford=1 i dya g1
a1 eI ST o1 b To & 3ideid 3iaT 8. 98 HeTondl © ;

[

QU
. gdefur

PEREIEY
ESIRERu

W

I'Al
fA2
.A3
.A4

Objective Question
82 1908082
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An attacking strategy which involves introducing new produets or technologies

that rewrite the rules of competition in the market and avoid direct conflict with a

rival is known as

. Flanking

. Bypass

. Encirclement
. Guerrilla
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Objective Question
83 1908083 N

sells a mobile phone to 'B'. a minor who pays for it by his cheque. 'A’ endorses
the cheque to 'C' who takes it in good faith and for value. The cheque is
dishonoured on presentation. Can 'C' enforce payment of the cheque ?

. C' can enforce the payment of cheque only against 'A’

. €' can enforce the payment of cheque either against 'A' or 'B'
. C' can enforce payment of cheque both against 'A’ and 'B'

. C' can enforce the payment of cheque only against 'B'
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Objective Question

84 1908084 The doctrine of 'Caveat emptor’ applies in which of the following situations?

. When goods are sold by description

. When goods are sold by sample

. When goods are sold under implied conditions and warranties

. When the buyer does not intimate the purpose to the seller and depends upon
his own skill and judgement.
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Objective Question

85 1908085 A letter of acceptance sufficiently stamped and duly addressed is put into course of

transmission. There is a

1. Contract voidable at the option of acceptor
2. Contract voidable at the option of offeror
3. No contract at all

4. Valid contract
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Objective Question

86 908086 attaining the age of majority, a minor's agreement

1. Can be ratified by him

2. Cannot be ratified by him
3. becomes void

4. becomes valid

gt Traifcie ®f FiferT 81 a1al 39 UR & o- & JYTd. 39 A1&1ad gRI
fopar TR TR

1. 39 GRT AT9ARIq foar o g g

2. 3P GRI H9ART Te! fbar o 9@ &)
3. Y Bl §

4. QY B ST g

Al
A2
A3
A4

Objective Question

87 1908087 ; : : ; 3
X was appointed on 1% July 2022 as a lecturer in an University. He was continued

on 30tk April 2023. What would be the duration of the previous year for the
assessment year 2023-24 for computation of income under the head Salary?

.1 July 2022 to 30 April 2023

. 1 April 2022 to 31 Match 2023

.1 April 2022 to 30 April 2023

.1 July 2022 to 31 March 2023

T fayfaamea ¥ x &1 faie 1 9ars 2022 $1 Waad & 9 B Hgad fear m
D! 30 U 2023 Pl W foan a1 a9 2023-24 F T FHeffkd oq gd o ot
{ald Fr g

[

da Lo

.1 SETS 2023 ¥ 30 YT 2023 TP
.1 30T 2022 ¥ 31 A1 2023 TAF
.1 30 2022 F 30 U 2023 TP
.1 SaTg 2022 9 31 A1 2023 TP

o =

NE V)
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Objective Question

88 908088 \When the income of a minor child is clubbed with the income of mother or father,
how much the deduction will be allowed to mother or father?

1. Rs. 1500

2. Rs. 2000

3. Actual income clubbed with the income of mother or father, whichever is less
4, No deduction

g U a0 §=d 1 31T S Hia1 a1 U &t 3img & gfdfed fearaars of
a1 a1 fudn &1 favat weidt @ srafa grft

1. %1500
2. %2000

3. Orar a1 fudr &t g & 91y 9isferd ardfas 3§ sl w9 8l
4. IS Hear el

Al
A2
A3
A4

Objective Question

89 908089 A multinational company can use which prices to create profits in low tax regimes

and loss in high tax regimes?

1. Divisional prices

2. Inter-Divisional Prices

3. Holding company prices

4. Transfer prices
US> SERIPI U1 9 R JoITelt & 1Y 3R 3= B3 JoIelt | 811 &1 89
fep PITd &1 TaNT el 82

. faureHTES Piad

. 3R TAYSHIAS Diad
. % St eiad

. QIR & Hd

o L b
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A2
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Objective Question

90 908090 'y i< an art of dodging tax without actually breaking the law". This is related with:

1. Tax Management
2. Tax Avoidance
3. Tax Planning

4. Tax Evasion

" g IRGd H B $I dlS (891 3R 59 31 U &l §"| I8 [bad Jaiaid g2

1. P HEYA
2. B gRae
3. PR UG
4. Y g

Al
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Objective Question

o1 908091 wrhich of the following one considered as supply factors affecting the flow of

Foreign Direct Investment (FDI):

A. Customer Access

B. Economic Priorities

C. Resource Availability

D. Avoidance of Trade Barrier
E. Logistics

Choose the most appropriate answer from the options given below:

. A and B only
B and D only
. Cand E only
Aand E only

O
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Objective Question

92 908092 Eor customers. which are the areas of ethical and social responsibility concerns?

A. Product safety

B. Fair Price

C. Fair Wages

D. TQM

E. Proper disclosures and information

Choose the correct answer from the options given below:

1. C and D only
2.C.Dand E only
Aand E only
.A. B and E only

TEd & g # Afte vd gmivie ReR d e e e e?

A. IS JRET

B. 3fd ged

c. 3f=d 3d (@ergd
D.dwg g

E. 9YfId Ui vl Ud g1

T2 e e fowedt # & T€ IR @1 9uF Fifvn

o

1.%ad C 3R D
2.%ad C,D ARE
3. %gd A JRE
4. PAAA, B IRE
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Objective Question

93 908093 gection 61 to 64 of the company act 2013 states 'Alteration proper’ which includes:

A. Cancellation of the unissued shares

B. Cancellation of 1ssued shares

C. Inerease in share capital by issue of new share

D. Decrease of share capital by redemption of shares

E. Conversion of fully paid shares into stock and vice versa.

Choose the most appropriate answer from the options given below:

.B.C and D only
A, CandE only
.C.D and E only
.A. B and C only

ST AT 2013 BT URT 61 U 64 H Sfcaad Sl U9 # MHAS :

A, T IR &1 | TR

B. fAifid 9’ &1 3 S

c. 78 YR} 3 Frifid & O IR ol 8§ afs

D. ImR1 & fr= I IR ol 1 Al

E. guid: Ued QR &1 i 4 uRdc Ud 39 fauia
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Objective Question
94 1908094
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From the operational point of view, which are the part of Environmental Audit

. Environment Management System Audit
. Social Audit

. Compliance Audit

. Site Property Audit

. Energy Audit

Mmoo wpe

Choose the correct answer from the options given below:

.C.D and E only
. A, CandD only
.B. Cand D only
. A.DandE only

uRETeH efeIv 3 qaiaRUi dEraRian & I FEfiied § 4 oH 3 80

A, JOTGIULYERE 9 e
B. IS 3id&mr

C. YT e

D. T Gy 3dem

E. To1l a0

= fau e fawedt 9 T I 319U PR

W o =

1. $adC.D.E
2. Hdd A, C.D
3.®ddB.C.D
4, Pad A, D.E

Al

A2

A3

A4

Objective Question

95 908095 | Which of the following cause demand of a product to increase?

. an inerease in consumer's income

. an increase in the prices of substitutes

. an increase in the price of complements
. an increase in the number of substitutes
. an increased taste for the commodity.

mgowpe

Choose the correct answer from the options given below:

. A.Band C only
.C.D and E only
.B.D and E only
. A.Band E only

b =

Lo
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Objective Question

96 |1908096 According to the theory of contestable markets. vigorous competition can take
place even among few sellers if and

A. Product is differentiated

B. Demand is infinitely elastic

C. Entry into the market is absolutely free
D. There are strong entry-exit barriers

E. Exit from the market is entirely costless.

Choose the correct answer from the options given below:

. Aand D only
B and E only
. A and C only
. C and E only

R
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Objective Question

97 908097 Under which of the following market structures. products are differentiated and
close substitutes?

A. Perfect competition

B. Monopolistic competition
C. Oligopoly

D. Duopoly

E. Monopoly

Choose the correct answer from the options given below:

. A. B and C only
.B. Cand D only
. C.D and E only
A, Cand D only

b =

L
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Objective Question

98 908098 | whyich of the following are the characteristics of the Euro Currency market?

A. the euro currency market does not have geographical limits

B. the euro currency market is unregulated

C. the euro currency market does not have deposit insurance

D. there are no restriction on the maximum interest payable or chargeable.
E. The euro currency market does not attract CRR and SLR restrictions,

Choose the most appropriate answer from the options given below:

.A.Band C only
.B.E and D only
.E. C and A only
.D.Aand E only

TRz AR P e B g &

A TR G5l SIORS! Himifere S 7 eidt 8

B. T3 {51 aoIR fafrafid gidi 8

C. T3 51 S19R ¥ SIS el 8 3|
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1. Pad A.B.C
2. ®dd B.E.D
3. HAAE.C. A
4, PadD.A.E
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Objective Question

99 908099 e assumptions of Purchasing Power Parity Theory includes:

A. No costs for converting one currency to another

B. No restrictions on the movement of capital between countries

C. No restrictions on the movement of commodities between countries

D. No transaction costs for buying and selling financial security

E. No transportation costs for trangporting a commodity from one country to
another.

Choose the most appropriate answer from the options given below:

1. A, B and C only
2.B.Dand C only
3.E.Aand C only
4.D. A and E only

%0 e AT RIGTd &1 JaUROT 3 B e f6a1 o 6 :

A. s 1o ga1 o oot g1 F IRdd @37 R $ig Yo To! (@RI od)
T ST 8|

B. Uoll B TH-2%1 § ¥R & F & il R Bis widew el gid 8|

C. TEI3H D1 U@-3 T G 3W F & O TR Bl Uida el gidl g

D.ﬁ?ﬂ%ﬂﬁﬂﬁ%@@ﬁ@ﬂ%%ﬁﬁﬁﬂﬁqwﬁw
STarg |

E. foodfl Uo 39 9 ¥R 39 H a¥q & uRag IR Big @NTd o 1l 6|

i feu Y fasedl © U Ya 9Ugad SR 1 99 DI :

1.$ad A.B.C
2. %ad B, D. C
3. HAAE. A, C
4. $aE D, A.E

Al

A2

A3

A4

Objective Question
100908100
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A box-plot is a graphical summary measures of data that displays

A, Mean
B.Q

C. Median
D. Q;

E. Mode

Choose the correct answer from the options given below:

. C and E only

A, Cand E only
. C. D and B only
.D. B and A only
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